
Name: LösungsschlüsselSubtraktion (horizontal)

Mathe www.CommonCoreSheets.de 4 1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

Antworten

1. 874

2. 3.183

3. 26

4. 83

5. 40

6. 8.314

7. 319

8. 4.805

9. 127

10. 366

11. 205

12. 750

Löse jede Aufgabe.

1) 8 7 5  -  1  = 8 7 4

2) 3 . 1 8 4  -  1  = 3 . 1 8 3

3) 6 8  -  4 2  = 2 6

4) 9 2  -  9  = 8 3

5) 4 6  -  6  = 4 0

6) 8 . 8 7 8  -  5 6 4  = 8 . 3 1 4

7) 7 7 7  -  4 5 8  = 3 1 9

8) 4 . 8 4 9  -  4 4  = 4 . 8 0 5

9) 1 9 2  -  6 5  = 1 2 7

10) 8 . 6 9 1  -  8 . 3 2 5  = 3 6 6

11) 2 7 8  -  7 3  = 2 0 5

12) 7 5 6  -  6  = 7 5 0
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Name: LösungsschlüsselSubtraktion (horizontal)

Mathe www.CommonCoreSheets.de
Geändert 4

Löse jede Aufgabe.

40 319 4.805 8.314 26

3.183 83 127 366 874

1) 8 7 5  -  1  = 8 7 4

2) 3 . 1 8 4  -  1  = 3 . 1 8 3

3) 6 8  -  4 2  = 2 6

4) 9 2  -  9  = 8 3

5) 4 6  -  6  = 4 0

6) 8 . 8 7 8  -  5 6 4  = 8 . 3 1 4

7) 7 7 7  -  4 5 8  = 3 1 9

8) 4 . 8 4 9  -  4 4  = 4 . 8 0 5
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Antworten

1. 874

2. 3.183
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